

Connexivity in coherence-based probability logic

Niki Pfeifer¹ & Giuseppe Sanfilippo²

¹Department of Philosophy

University of Regensburg (Germany)

niki.pfeifer@ur.de

(Supported by the BMBF project 01UL1906X)

²Department of Mathematics and Computer Science

University of Palermo (Italy)

giuseppe.sanfilippo@unipa.it

This talk is based on our paper (in press): Interpreting connexive principles in coherence-based probability logic. In J. Vejnárová & J. Wilson (Eds.). Symbolic and quantitative approaches to reasoning with uncertainty (ECSQARU 2021, LNAI 12897). Cham: Springer. https://doi.org/10.1007/978-3-030-86772-0_48

Cham: Springer. https://doi.org/10.1007/978-3-030-86772-0_48
Preprint: <https://arxiv.org/abs/2109.01139>

Introduction

Approach 1: Connexivity by probabilistic constraints on defaults

Approach 2: Connexivity by logical operations on conditional events

Concluding remarks

References

Table of contents

Introduction

Approach 1: Connexivity by probabilistic constraints on defaults

Approach 2: Connexivity by logical operations on conditional events

Concluding remarks

References

A basic connexive intuition (overviews on connexive logic: McCall, 2012; Wansing, 2020)

Conditionals of the form

$$\sim A \rightarrow A$$

should not hold.

A basic connexive intuition (overviews on connexive logic: McCall, 2012; Wansing, 2020)

Conditionals of the form

$$\sim A \rightarrow A$$

should not hold.

This is intuitively plausible and matches experimental-psychological data

(e.g. Pfeifer, 2012a, in press).

A basic connexive intuition (overviews on connexive logic: McCall, 2012; Wansing, 2020)

Conditionals of the form

$$\sim A \rightarrow A$$

should not hold.

This is intuitively plausible and matches experimental-psychological data

(e.g. Pfeifer, 2012a, in press).

Under the material conditional interpretation of conditionals, however, it holds that:

$$(\sim A \supset A) \equiv (\sim \sim A \vee A) \equiv A.$$

A basic connexive intuition (overviews on connexive logic: McCall, 2012; Wansing, 2020)

Conditionals of the form

$$\sim A \rightarrow A$$

should not hold.

This is intuitively plausible and matches experimental-psychological data

(e.g. Pfeifer, 2012a, in press).

Under the material conditional interpretation of conditionals, however, it holds that:

$$(\sim A \supset A) \equiv (\sim \sim A \vee A) \equiv A.$$

We cover the basic connexive intuition by the observation that for any event A , with $\bar{A} \neq \emptyset$, event $A|\bar{A}$ is

$$P(A|\bar{A}) = 0,$$

where 0 is the only coherent value.

Framework: Coherence-based probability logic

- ▶ Coherence (subjective probability)
 - ▶ de Finetti, and {Capotorti, Coletti, Gilio, Holzer, Lad, Regazzini, Rigo, Sanfilippo, Scozzafava, Vantaggi, Walley, ...}
 - ▶ probability as a **degree of belief**
 - ▶ in betting terms, a probability assessment is **coherent** if and only if in any finite combination of n bets it cannot happen that the values of the random gain are all positive, or all negative (**no Dutch Book**)
 - ▶ complete algebra is **not required**

Framework: Coherence-based probability logic

- ▶ Coherence (subjective probability)
 - ▶ de Finetti, and {Capotorti, Coletti, Gilio, Holzer, Lad, Regazzini, Rigo, Sanfilippo, Scozzafava, Vantaggi, Walley, ...}
 - ▶ probability as a **degree of belief**
 - ▶ in betting terms, a probability assessment is **coherent** if and only if in any finite combination of n bets it cannot happen that the values of the random gain are all positive, or all negative (**no Dutch Book**)
 - ▶ complete algebra is **not required**
 - ▶ many probabilistic approaches define $P(B|A)$ by

$$\frac{P(A \wedge B)}{P(A)} \quad \text{and assume that} \quad P(A) > 0$$

Framework: Coherence-based probability logic

- ▶ Coherence (subjective probability)
 - ▶ de Finetti, and {Capotorti, Coletti, Gilio, Holzer, Lad, Regazzini, Rigo, Sanfilippo, Scozzafava, Vantaggi, Walley, ...}
 - ▶ probability as a **degree of belief**
 - ▶ in betting terms, a probability assessment is **coherent** if and only if in any finite combination of n bets it cannot happen that the values of the random gain are all positive, or all negative (**no Dutch Book**)
 - ▶ complete algebra is **not required**
 - ▶ many probabilistic approaches define $P(B|A)$ by

$$\frac{P(A \wedge B)}{P(A)} \quad \text{and assume that} \quad P(A) > 0$$

what if $P(A) = 0$?

Framework: Coherence-based probability logic

► Coherence (subjective probability)

- de Finetti, and {Capotorti, Coletti, Gilio, Holzer, Lad, Regazzini, Rigo, Sanfilippo, Scozzafava, Vantaggi, Walley, ...}
- probability as a **degree of belief**
- in betting terms, a probability assessment is **coherent** if and only if in any finite combination of n bets it cannot happen that the values of the random gain are all positive, or all negative (**no Dutch Book**)
- complete algebra is **not required**
- many probabilistic approaches define $P(B|A)$ by

$$\frac{P(A \wedge B)}{P(A)} \quad \text{and assume that} \quad P(A) > 0$$

what if $P(A) = 0$?

in the coherence approach, conditional probability, $P(B|A)$, is **primitive**

- **zero probabilities** are exploited to reduce the complexity
- **imprecision**
- **logical operations** on conditional events (without triviality)

Framework: Coherence-based probability logic

► Coherence (subjective probability)

- de Finetti, and {Capotorti, Coletti, Gilio, Holzer, Lad, Regazzini, Rigo, Sanfilippo, Scozzafava, Vantaggi, Walley, ...}
- probability as a **degree of belief**
- in betting terms, a probability assessment is **coherent** if and only if in any finite combination of n bets it cannot happen that the values of the random gain are all positive, or all negative (**no Dutch Book**)
- complete algebra is **not required**
- many probabilistic approaches define $P(B|A)$ by

$$\frac{P(A \wedge B)}{P(A)} \quad \text{and assume that} \quad P(A) > 0$$

what if $P(A) = 0$?

in the coherence approach, conditional probability, $P(B|A)$, is **primitive**

- **zero probabilities** are exploited to reduce the complexity
 - **imprecision**
 - **logical operations** on conditional events (without triviality)
- ## ► Probability logic
- uncertain argument forms
 - **deductive** consequence relation
 - **propagation** of the uncertainties from the premises to the conclusions

Motivation

"If two people are arguing 'If A will C?' and are both in doubt as to A, they are adding A hypothetically to their stock of knowledge and arguing on that basis about C; so that in a sense 'If A, C' and 'If A, $\bar{C}$ ' are contradictories. We can say they are fixing their degrees of belief in C given A. If A turns out false, these degrees of belief are rendered void."

(Ramsey, 1929/1994, p. 55, we adjusted the notation)

Motivation

“If two people are arguing ‘If A will C?’ and are both in doubt as to A, they are adding A hypothetically to their stock of knowledge and arguing on that basis about C; so that in a sense ‘If A, C’ and ‘If A, $\bar{C}$ ’ are contradictories. We can say they are fixing their degrees of belief in C given A. If A turns out false, these degrees of belief are rendered void.”

(Ramsey, 1929/1994, p. 55, we adjusted the notation)

“[A]ncient logicians most likely meant their theses [concerning connexivity] as applicable only to ‘normal’ conditionals with antecedents which are not self-contradictory.” *(Lenzen, 2020, p. 16)*

Our motivation

- ▶ Interpreting and checking the validity of connexive principles within coherence based probability logic
- ▶ Two approaches:
 - ▶ Approach 1: Connexive principles obtained by defaults interpreted by probabilistic constraints on conditional events (basic conditionals are interpreted by probability constraints; negation of the assessment; wide scope negation)
 - ▶ Approach 2: Connexive principles obtained by logical operations on conditional events (basic conditionals are interpreted by conditional events; negation of the object; narrow scope negation)

Conditionals as conditional events

A conditional *if H then A* that satisfies $P(\text{if } H \text{ then } A) = P(A|H)$ is identified with the **conditional event** $A|H$, with $H \neq \emptyset$, defined as a three-valued logical entity

$$A|H = \begin{cases} \text{True,} & \text{if } A \wedge H = AH \text{ is true;} \\ \text{False,} & \text{if } \bar{A}H \text{ is true;} \\ \text{Void,} & \text{if } \bar{H} \text{ is true.} \end{cases}$$

We observe that $(A \wedge H)|H = A|H$.

Conditionals as conditional events

A conditional *if H then A* that satisfies $P(\text{if } H \text{ then } A) = P(A|H)$ is identified with the **conditional event** $A|H$, with $H \neq \emptyset$, defined as a three-valued logical entity

$$A|H = \begin{cases} \text{True,} & \text{if } A \wedge H = AH \text{ is true;} \\ \text{False,} & \text{if } \bar{A}H \text{ is true;} \\ \text{Void,} & \text{if } \bar{H} \text{ is true.} \end{cases}$$

We observe that $(A \wedge H)|H = A|H$.

In terms of the betting metaphor, assessing $p = P(A|H)$ implies that you agree

$$\begin{array}{l} \text{to pay} \\ \text{(resp., to receive)} \end{array} \quad p \quad \begin{array}{l} \text{in order to receive} \\ \text{(resp., to pay)} \end{array} \quad \begin{cases} 1, & \text{if } AH \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true,} \\ p, & \text{if } \bar{H} \text{ is true.} \end{cases}$$

Conditionals as conditional events

A conditional *if H then A* that satisfies $P(\text{if } H \text{ then } A) = P(A|H)$ is identified with the **conditional event** $A|H$, with $H \neq \emptyset$, defined as a three-valued logical entity

$$A|H = \begin{cases} \text{True,} & \text{if } A \wedge H = AH \text{ is true;} \\ \text{False,} & \text{if } \bar{A}H \text{ is true;} \\ \text{Void,} & \text{if } \bar{H} \text{ is true.} \end{cases}$$

We observe that $(A \wedge H)|H = A|H$.

In terms of the betting metaphor, assessing $p = P(A|H)$ implies that you agree

$$\begin{array}{l} \text{to pay} \\ \text{(resp., to receive)} \end{array} \quad p \quad \begin{array}{l} \text{in order to receive} \\ \text{(resp., to pay)} \end{array} \quad \begin{cases} 1, & \text{if } AH \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true,} \\ p, & \text{if } \bar{H} \text{ is true.} \end{cases}$$

Coherence requires that $P(A \wedge H) = P(A|H)P(H)$. When $P(H) > 0$ it follows that

$P(A|H) = \frac{P(A \wedge H)}{P(H)}$. If $P(H) = 0$, it follows that $P(A \wedge H) = 0$; in this case

$P(A|H) \in [0, 1]$. Moreover $P(A|A) = 1$ and $P(\bar{A}|A) = 0$.

Connexive principles

We investigate the following connexive principles (see also Wansing (2020) for the terminology):

- Aristotle's Thesis (AT): $\sim(\sim A \rightarrow A)$,
- Aristotle's Thesis' (AT'): $\sim(A \rightarrow \sim A)$,
- Abelard's First Principle (AB): $\sim((A \rightarrow B) \wedge (A \rightarrow \sim B))$,
- Aristotle's Second Thesis (AS): $\sim((A \rightarrow B) \wedge (\sim A \rightarrow B))$,
- Boethius' Thesis (BT): $(A \rightarrow B) \rightarrow \sim(A \rightarrow \sim B)$,
- Boethius' Thesis' (BT'): $(A \rightarrow \sim B) \rightarrow \sim(A \rightarrow B)$,
- Reversed Boethius' Thesis (RBT): $\sim(A \rightarrow \sim B) \rightarrow (A \rightarrow B)$,
- Reversed Boethius' Thesis' (RBT'): $\sim(A \rightarrow B) \rightarrow (A \rightarrow \sim B)$,
- Boethius Variation 3 (B3): $(A \rightarrow B) \rightarrow \sim(\sim A \rightarrow B)$,
- Boethius Variation 4 (B4): $(\sim A \rightarrow B) \rightarrow \sim(A \rightarrow B)$.

Table of contents

Introduction

Approach 1: Connexivity by probabilistic constraints on defaults

Approach 2: Connexivity by logical operations on conditional events

Concluding remarks

References

Approach 1: Connexive principles and default reasoning

Here, we interpret the basic conditional $A \rightarrow C$ by the default $A \sim C$, which is interpreted by the probability assessment $P(C|A) = 1$.

Approach 1: Connexive principles and default reasoning

Here, we interpret the basic conditional $A \rightarrow C$ by the default $A \vdash C$, which is interpreted by the probability assessment $P(C|A) = 1$. The negated conditional $\sim(A \rightarrow C)$ is then a negated default $A \not\vdash C$, which is interpreted by the wide scope negation of negating conditionals (see, e.g., Gilio & Sanfilippo, 2013c; Gilio et al., 2016):

Conditional	Default	Probabilistic interpretation
$A \rightarrow C$	$A \vdash C$	$P(C A) = 1$
$\sim(A \rightarrow C)$	$A \not\vdash C$	$P(C A) \neq 1$

We interpret the inner negation $\sim A$ by $\bar{A}$. Then, the conditional $A \rightarrow \sim C$ is interpreted by the default $A \vdash \bar{C}$. Likewise, $\sim A \rightarrow C$ is interpreted by $\bar{A} \vdash C$.

Approach 1: Validity as satisfaction of prob. constraints

We first consider non-iterated connexive principles, e.g., (AT), (AT'), (AB), (AS).

Definition:

A (non-iterated) connexive principle is **valid** if and only if **the probabilistic constraint associated with the connexive principle is satisfied by every coherent assessment on the involved conditional events.**

Approach 1: Validity as satisfaction of prob. constraints

We first consider non-iterated connexive principles, e.g., (AT), (AT'), (AB), (AS).

Definition:

A (non-iterated) connexive principle is **valid** if and only if **the probabilistic constraint associated with the connexive principle is satisfied by every coherent assessment on the involved conditional events.**

Validity of (AT).

The negated conditional $\sim(\sim A \rightarrow A)$ is interpreted by the negated default $\bar{A} \not\models A$, that is $P(A|\bar{A}) \neq 1$. We observe that $P(A|\bar{A}) = 0$ is the unique precise coherent assessment on $A|\bar{A}$. Then, as $P(A|\bar{A}) = 0$ satisfies the probabilistic constraint $P(A|\bar{A}) \neq 1$, it follows that the connexive principle $\sim(\sim A \rightarrow A)$ is valid.

Approach 1: Validity as satisfaction of prob. constraints

We first consider non-iterated connexive principles, e.g., (AT), (AT'), (AB), (AS).

Definition:

A (non-iterated) connexive principle is **valid** if and only if **the probabilistic constraint associated with the connexive principle is satisfied by every coherent assessment on the involved conditional events.**

Validity of (AT).

The negated conditional $\sim(\sim A \rightarrow A)$ is interpreted by the negated default $\bar{A} \not\models A$, that is $P(A|\bar{A}) \neq 1$. We observe that $P(A|\bar{A}) = 0$ is the unique precise coherent assessment on $A|\bar{A}$. Then, as $P(A|\bar{A}) = 0$ satisfies the probabilistic constraint $P(A|\bar{A}) \neq 1$, it follows that the connexive principle $\sim(\sim A \rightarrow A)$ is valid.

Validity of (AT'). The negated conditional $\sim(A \rightarrow \sim A)$ is interpreted by the negated default $A \not\models \bar{A}$, that is $P(\bar{A}|A) \neq 1$. We observe that $P(\bar{A}|A) = 0$ is the unique precise coherent assessment on $\bar{A}|A$. Then, as $P(\bar{A}|A) = 0$ satisfies the probabilistic constraint $P(\bar{A}|A) \neq 1$, it follows that the connexive principle $\sim(A \rightarrow \sim A)$ is valid.

Checking the validity of (AB) and (AS)

Validity of (AB).

We interpret $\sim((A \rightarrow B) \wedge (A \rightarrow \sim B))$ by the negation of $(A \mid\sim B, A \mid\sim \bar{B})$, that is $(P(B|A), P(\bar{B}|A)) \neq (1, 1)$. This principle is valid because coherence requires that $P(B|A) + P(\bar{B}|A) = 1$.

Non-validity of (AS).

$\sim((A \rightarrow B) \wedge (\sim A \rightarrow B))$ is interpreted by the negation of $(A \mid\sim B, \bar{A} \mid\sim B)$, that is $(P(B|A), P(B|\bar{A})) \neq (1, 1)$. (AS) is not valid because there exists a coherent probability assessment, see e.g., $(P(B|A) = 1, P(B|\bar{A}) = 1)$, which does not satisfy $(P(B|A), P(B|\bar{A})) \neq (1, 1)$.

Approach 1: Checking iterated connexive principles

We interpret the main connective ($\rightarrow$) of iterated principles (e.g. (BT), (BT')) as a probabilistic consequence relation ($\Rightarrow$).

Definition:

An iterated connexive principle $\bigcirc \Rightarrow \square$ is **valid** if and only if the probabilistic constraint in the conclusion $\square$ is satisfied by every coherent extension from the premise $\bigcirc$ to the conclusion $\square$.

Approach 1: Checking iterated connexive principles

We interpret the main connective ($\rightarrow$) of iterated principles (e.g. (BT), (BT')) as a probabilistic consequence relation ($\Rightarrow$).

Definition:

An iterated connexive principle $\bigcirc \Rightarrow \square$ is **valid** if and only if the probabilistic constraint in the conclusion $\square$ is satisfied by every coherent extension from the premise $\bigcirc$ to the conclusion $\square$.

Validity of (BT)

$(A \rightarrow B) \rightarrow \sim(A \rightarrow \sim B)$ is interpreted by $(P(B|A) = 1) \Rightarrow (P(\bar{B}|A) \neq 1)$, which is valid because if $P(B|A) = 1$, then $P(\bar{B}|A) = 1 - P(B|A) = 0 \neq 1$.

Validity of (BT')

$(A \rightarrow \sim B) \rightarrow \sim(A \rightarrow B)$ is interpreted by $(P(\bar{B}|A) = 1) \Rightarrow (P(B|A) \neq 1)$, which is valid because if $P(\bar{B}|A) = 1$, then $P(B|A) = 1 - P(\bar{B}|A) = 0 \neq 1$.

Approach 1: Checking iterated connexive principles

We interpret the main connective ($\rightarrow$) of iterated principles (e.g. (BT), (BT')) as a probabilistic consequence relation ($\Rightarrow$).

Definition:

An iterated connexive principle $\bigcirc \Rightarrow \square$ is **valid** if and only if the probabilistic constraint in the conclusion $\square$ is satisfied by every coherent extension from the premise $\bigcirc$ to the conclusion $\square$.

Validity of (BT)

$(A \rightarrow B) \rightarrow \sim(A \rightarrow \sim B)$ is interpreted by $(P(B|A) = 1) \Rightarrow (P(\bar{B}|A) \neq 1)$, which is valid because if $P(B|A) = 1$, then $P(\bar{B}|A) = 1 - P(B|A) = 0 \neq 1$.

Validity of (BT')

$(A \rightarrow \sim B) \rightarrow \sim(A \rightarrow B)$ is interpreted by $(P(\bar{B}|A) = 1) \Rightarrow (P(B|A) \neq 1)$, which is valid because if $P(\bar{B}|A) = 1$, then $P(B|A) = 1 - P(\bar{B}|A) = 0 \neq 1$.

Non-validity of (RBT) and (RBT')

(RBT): $\sim(A \rightarrow \sim B) \rightarrow (A \rightarrow B)$ is interpreted by $(P(\bar{B}|A) \neq 1) \Rightarrow (P(B|A) = 1)$, which is not valid because if $P(\bar{B}|A) \neq 1$, then $P(B|A) = 1 - P(\bar{B}|A) > 0$, but not necessary equal to 1 (e.g. $P(\bar{B}|A) = P(B|A) = 0.5$). Likewise, (RBT')

$\sim(A \rightarrow B) \rightarrow (A \rightarrow \sim B)$ is not valid.

Approach 1: Checking validity of iterated connexive principles (cont.)

Non-validity of (B3)

We interpret $(A \rightarrow B) \rightarrow \sim(\sim A \rightarrow B)$ by $(P(B|A) = 1) \Rightarrow (P(B|\bar{A}) \neq 1)$, which is not valid because if $P(B|A) = 1$, then $P(B|\bar{A}) \in [0, 1]$ and hence $P(B|\bar{A}) = 1$ is a coherent extension of $P(B|A) = 1$.

Non-validity of (B4)

We interpret $(\sim A \rightarrow B) \rightarrow \sim(A \rightarrow B)$ by $(P(B|\bar{A}) = 1) \Rightarrow (P(B|A) \neq 1)$, which is not valid because if $P(B|\bar{A}) = 1$, then $P(B|A) \in [0, 1]$ and hence $P(B|A) = 1$ is a coherent extension of $P(B|\bar{A}) = 1$.

Table of contents

Introduction

Approach 1: Connexivity by probabilistic constraints on defaults

Approach 2: Connexivity by logical operations on conditional events

Concluding remarks

References

Approach 2: Validity in terms of conditional random quantities

Instead of interpreting basic conditionals as defaults in terms of probabilistic constraints (Approach 1), we analyse connexive principles as conditional random quantities within the theory of **logical operations among conditional events** (Approach 2).

In **Approach 2**, a **basic conditional is a conditional event** (instead of a conditional probabilistic constraint) which is a three-valued object. **Logical operations** among conditional events **yield** (not conditional events, but) **conditional random quantities** with more than three possible values (Gilio & Sanfilippo, 2014).

Definition (Approach 2):

A connexive principle is **valid** if and only if the associated conditional random quantity is **constant and equal to 1**.

A conditional event as a random quantity

Given an event A we denote by the same symbol its indicator, which is equal to 1 or 0 according to whether A is true or false, respectively.

Let $p = P(A|H)$ be a conditional probability assessment on $A|H$. The indicator of $A|H$ (denoted by the same symbol) is defined as the random quantity (see, e.g., Gilio &

Sanfilippo, 2014)

$$A|H = AH + p \cdot (1 - H) = AH + p \cdot \bar{H} = \begin{cases} 1, & \text{if } AH \text{ is true (win),} \\ 0, & \text{if } \bar{A}H \text{ is true (lose),} \\ p, & \text{if } \bar{H} \text{ is true (money back).} \end{cases}$$

Of course, the third value of the random quantity $A|H$ (subjectively) depends on the assessed probability $P(A|H) = p$.

Approach 2: Validating (AT)

A conditional $A \rightarrow B$ is interpreted by $B|A$, where

$$B|A = AB + P(B|A)\bar{A}.$$

We interpret $\sim(A \rightarrow B)$ by $\overline{B|A}$.

The negation $\overline{B|A}$ of the conditional event $B|A$ is defined by

$$\overline{B|A} = 1 - B|A = (1 - B)|A = \bar{B}|A \quad (1)$$

because $P(\bar{B}|A) = 1 - P(B|A)$.

Aristotle's Thesis (AT)

We interpret $\sim(\sim A \rightarrow A)$ by $\overline{\bar{A}|\bar{A}}$. Then, as $P(\bar{A}|\bar{A}) = 1$, it follows that

$$\overline{\bar{A}|\bar{A}} = \bar{A}|\bar{A} = \bar{A} + P(\bar{A}|\bar{A})\bar{A} = \bar{A} + \bar{A} = 1. \quad (2)$$

Therefore, (AT) is valid because $\overline{\bar{A}|\bar{A}}$ is constant and equal to 1.

Validating (AT') and (AB)

Aristotle's Thesis' (AT')

We interpret $\sim(A \rightarrow \sim A)$ by $\overline{\overline{A}}|A$. Like in (AT), it holds that

$$\overline{\overline{A}}|A = \overline{\overline{A}}|A = A|A = 1, \quad (3)$$

which validates (AT').

Validating (AT') and (AB)

Aristotle's Thesis' (AT')

We interpret $\sim(A \rightarrow \sim A)$ by $\overline{\overline{A}|A}$. Like in (AT), it holds that

$$\overline{\overline{A}|A} = \overline{\overline{A}}|A = A|A = 1, \quad (3)$$

which validates (AT').

Abelard's Thesis (AB)

We interpret $\sim((A \rightarrow B) \wedge (A \rightarrow \sim B))$ by the conditional random quantity $\overline{(B|A) \wedge (\bar{B}|A)}$, where $A \neq \emptyset$. We observe that $(B|A) \wedge (\bar{B}|A) = (B \wedge \bar{B})|A = \emptyset|A$. Then,

$$\overline{(B|A) \wedge (\bar{B}|A)} = \overline{\emptyset|A} = \bar{\emptyset}|A = \Omega|A = A|A = 1, \quad (4)$$

which validates (AB).

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$(A|H) \wedge (B|K) = (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) =$$

$$= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ \end{cases}$$

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$\begin{aligned}
 (A|H) \wedge (B|K) &= (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) = \\
 &= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \end{cases}
 \end{aligned}$$

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$\begin{aligned}
 (A|H) \wedge (B|K) &= (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) = \\
 &= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \end{cases}
 \end{aligned}$$

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$\begin{aligned}
 (A|H) \wedge (B|K) &= (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) = \\
 &= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \\ y = P(B|K), & \text{if } \bar{K}AH \text{ is true,} \end{cases}
 \end{aligned}$$

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$\begin{aligned}
 (A|H) \wedge (B|K) &= (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) = \\
 &= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \\ y = P(B|K), & \text{if } \bar{K}AH \text{ is true,} \\ z = \mathbb{P}[(A|H) \wedge (B|K)], & \text{if } \bar{H}\bar{K} \text{ is true,} \end{cases}
 \end{aligned}$$

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$(A|H) \wedge (B|K) = (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) =$$

$$= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \\ y = P(B|K), & \text{if } \bar{K}AH \text{ is true,} \\ z = \mathbb{P}[(A|H) \wedge (B|K)], & \text{if } \bar{H}\bar{K} \text{ is true,} \end{cases}$$

where $z = \mathbb{P}[(A|H) \wedge (B|K)]$. Of course $(A|H) \wedge (B|H) = AB|H$.

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$(A|H) \wedge (B|K) = (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) =$$

$$= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \\ y = P(B|K), & \text{if } \bar{K}AH \text{ is true,} \\ z = \mathbb{P}[(A|H) \wedge (B|K)], & \text{if } \bar{H}\bar{K} \text{ is true,} \end{cases}$$

where $z = \mathbb{P}[(A|H) \wedge (B|K)]$. Of course $(A|H) \wedge (B|H) = AB|H$.

In the betting framework you agree to pay $z = \mathbb{P}[(A|H) \wedge (B|K)]$ with the proviso that you will receive:

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$(A|H) \wedge (B|K) = (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) =$$

$$= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \\ y = P(B|K), & \text{if } \bar{K}AH \text{ is true,} \\ z = \mathbb{P}[(A|H) \wedge (B|K)], & \text{if } \bar{H}\bar{K} \text{ is true,} \end{cases}$$

where $z = \mathbb{P}[(A|H) \wedge (B|K)]$. Of course $(A|H) \wedge (B|H) = AB|H$.

In the betting framework you agree to pay $z = \mathbb{P}[(A|H) \wedge (B|K)]$ with the proviso that you will receive:

- ▶ 1, if all conditional events are true;

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$(A|H) \wedge (B|K) = (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) =$$

$$= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \\ y = P(B|K), & \text{if } \bar{K}AH \text{ is true,} \\ z = \mathbb{P}[(A|H) \wedge (B|K)], & \text{if } \bar{H}\bar{K} \text{ is true,} \end{cases}$$

where $z = \mathbb{P}[(A|H) \wedge (B|K)]$. Of course $(A|H) \wedge (B|H) = AB|H$.

In the betting framework you agree to pay $z = \mathbb{P}[(A|H) \wedge (B|K)]$ with the proviso that you will receive:

- ▶ 1, if all conditional events are true;
- ▶ 0, if at least one of the conditional events is false;

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$(A|H) \wedge (B|K) = (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) =$$

$$= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \\ y = P(B|K), & \text{if } \bar{K}AH \text{ is true,} \\ z = \mathbb{P}[(A|H) \wedge (B|K)], & \text{if } \bar{H}\bar{K} \text{ is true,} \end{cases}$$

where $z = \mathbb{P}[(A|H) \wedge (B|K)]$. Of course $(A|H) \wedge (B|H) = AB|H$.

In the betting framework you agree to pay $z = \mathbb{P}[(A|H) \wedge (B|K)]$ with the proviso that you will receive:

- ▶ 1, if all conditional events are true;
- ▶ 0, if at least one of the conditional events is false;
- ▶ the probability of that conditional event which is void, if one conditional event is void and the other one is true;

Conjoined conditionals as a random quantity

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $P(A|H) = x$, $P(B|K) = y$, we define their **conjunction** as

$$(A|H) \wedge (B|K) = (ABHK + x\bar{H}BK + y\bar{K}AH)|(H \vee K) =$$

$$= \begin{cases} 1, & \text{if } AHBK \text{ is true,} \\ 0, & \text{if } \bar{A}H \text{ is true or } \bar{B}K \text{ is true,} \\ x = P(A|H), & \text{if } \bar{H}BK \text{ is true,} \\ y = P(B|K), & \text{if } \bar{K}AH \text{ is true,} \\ z = \mathbb{P}[(A|H) \wedge (B|K)], & \text{if } \bar{H}\bar{K} \text{ is true,} \end{cases}$$

where $z = \mathbb{P}[(A|H) \wedge (B|K)]$. Of course $(A|H) \wedge (B|H) = AB|H$.

In the betting framework you agree to pay $z = \mathbb{P}[(A|H) \wedge (B|K)]$ with the proviso that you will receive:

- ▶ 1, if all conditional events are true;
- ▶ 0, if at least one of the conditional events is false;
- ▶ the probability of that conditional event which is void, if one conditional event is void and the other one is true;
- ▶ the quantity z that you paid, if both conditional events are void.

Non-validity of Aristotle's Second Thesis (AS)

We interpret $\sim((A \rightarrow B) \wedge (\sim A \rightarrow B))$ by the random quantity $\overline{(B|A) \wedge (B|\bar{A})}$. By setting $P(B|A) = x$ and $P(B|\bar{A}) = y$, it follows that (Gilio & Sanfilippo, 2013b, 2019a)

$$(B|A) \wedge (B|\bar{A}) = (B|A) \cdot (B|\bar{A}) = \begin{cases} 0, & \text{if } \bar{B} \text{ is true,} \\ y, & \text{if } AB \text{ is true,} \\ x, & \text{if } \bar{A}B \text{ is true.} \end{cases}$$

Then,

$$\overline{(B|A) \wedge (B|\bar{A})} = 1 - (B|A) \wedge (B|\bar{A}) = \begin{cases} 1, & \text{if } \bar{B} \text{ is true,} \\ 1 - y, & \text{if } AB \text{ is true,} \\ 1 - x, & \text{if } \bar{A}B \text{ is true,} \end{cases}$$

which is not constant and can therefore not necessarily be equal to 1.

In particular, by choosing the coherent assessment $x = y = 1$, it follows that

$$\overline{(B|A) \wedge (B|\bar{A})} = \bar{B},$$

which is not necessary equal to 1 as it could be either 1 or 0, according to whether $\bar{B}$ is true or false, respectively.

Therefore, (AS) is not valid.

Iterated conditioning

We recall that

$$A|H = A \wedge H + p\bar{H},$$

where $p = P(A|H)$.

Given any pair of conditional events $A|H$ and $B|K$, the notion of an iterated conditional $(B|K)|(A|H)$ is based on the same structure, i.e.

$$\square|\bigcirc = \square \wedge \bigcirc + \mathbb{P}(\square|\bigcirc)\bar{\bigcirc},$$

where $\square$ denotes $B|K$ and $\bigcirc$ denotes $A|H$.

Iterated conditioning

We recall that

$$A|H = A \wedge H + p\bar{H},$$

where $p = P(A|H)$.

Given any pair of conditional events $A|H$ and $B|K$, the notion of an iterated conditional $(B|K)|(A|H)$ is based on the same structure, i.e.

$$\square|\bigcirc = \square \wedge \bigcirc + \mathbb{P}(\square|\bigcirc)\bar{\bigcirc},$$

where $\square$ denotes $B|K$ and $\bigcirc$ denotes $A|H$.

In betting terms, $\mu = \mathbb{P}(\square|\bigcirc)$ is the amount that you agree to pay, with the proviso that you receive the random quantity $\square \wedge \bigcirc + \mathbb{P}(\square|\bigcirc)\bar{\bigcirc}$.

Iterated conditioning

We recall that

$$A|H = A \wedge H + p\bar{H},$$

where $p = P(A|H)$.

Given any pair of conditional events $A|H$ and $B|K$, the notion of an iterated conditional $(B|K)|(A|H)$ is based on the same structure, i.e.

$$\square|\bigcirc = \square \wedge \bigcirc + \mathbb{P}(\square|\bigcirc)\bar{\bigcirc},$$

where $\square$ denotes $B|K$ and $\bigcirc$ denotes $A|H$.

In betting terms, $\mu = \mathbb{P}(\square|\bigcirc)$ is the amount that you agree to pay, with the proviso that you receive the random quantity $\square \wedge \bigcirc + \mathbb{P}(\square|\bigcirc)\bar{\bigcirc}$. Then, the notion of the iterated conditional $(B|K)|(A|H)$ is defined by (see, e.g., Gilio & Sanfilippo, 2013a, 2013b, 2014):

Definition

Given any pair of conditional events $A|H$ and $B|K$, with $AH \neq \emptyset$, we define the iterated conditional $(B|K)|(A|H)$ as

$$(B|K)|(A|H) = (B|K) \wedge (A|H) + \mu\bar{A}|H,$$

where μ is the prevision of $(B|K)|(A|H)$.

In explicit terms

Operatively, if $P(A|H) = x$, $P(B|K) = y$, $\mathbb{P}[(A|H) \wedge (B|K)] = z$, then $\mu = \mathbb{P}[(B|K)|(A|H)]$ represents the amount you agree to pay, with the proviso that you will receive the quantity

$$(B|K)|(A|H) = (B|K) \wedge (A|H) + \mu \bar{A}|H = \begin{cases} 1, & AHBK, \\ 0, & AH\bar{B}K, \\ y, & AH\bar{K}, \\ \mu & \bar{A}H, \\ x + \mu(1-x), & \bar{H}BK, \\ \mu(1-x), & \bar{H}\bar{B}K, \\ z + \mu(1-x), & \bar{H}\bar{K}. \end{cases}$$

We observe that by the linearity of prevision

$$\mu = \mathbb{P}[(B|K)|(A|H)] = \mathbb{P}[(B|K) \wedge (A|H)] + \mu P(\bar{A}|H) = z + \mu(1-x).$$

Validity of Boethius' Thesis (BT)

We interpret $(A \rightarrow B) \rightarrow \sim(A \rightarrow \sim B)$ by the iterated conditional $(\overline{B|A})|(B|A)$, with $AB \neq \emptyset$. We recall that $(\overline{B|A}) = B|A$ and that $(B|A) \wedge (B|A) = B|A$. Then, $(\overline{B|A})|(B|A) = (B|A)|(B|A)$. Moreover, by setting $P(B|A) = x$ and $\mathbb{P}[(B|A)|(B|A)] = \mu$, it holds that

$$(B|A)|(B|A) = (B|A) + \mu(1 - B|A) = \begin{cases} 1, & \text{if } AB \text{ is true,} \\ \mu, & \text{if } A\bar{B} \text{ is true,} \\ x + \mu(1 - x), & \text{if } \bar{A} \text{ is true.} \end{cases}$$

By the linearity of prevision it holds that

$$\mu = \mathbb{P}[(B|A)|(B|A)] = P(B|A) + \mu P(\bar{B}|A) = x + \mu(1 - x).$$

Then,

$$(B|A)|(B|A) = \begin{cases} 1, & \text{if } AB \text{ is true,} \\ \mu, & \text{if } \bar{A} \vee \bar{B} \text{ is true.} \end{cases}$$

Then, by coherence it must be $\mu = 1$ and hence (Gilio & Sanfilippo, 2014, Remark 2)

$$(B|A)|(B|A) = 1. \tag{5}$$

Therefore $(\overline{B|A})|(B|A)$ is constant and equal to 1, which validates (BT).

Validity of (BT'), (RBT), and (RBT')

Boethius' Thesis' (BT')

We interpret $(A \rightarrow \sim B) \rightarrow \sim(A \rightarrow B)$ by the iterated conditional $(\overline{B|A})|(\overline{B|A})$, where $A\overline{B} \neq \emptyset$. By observing that $\overline{B|A} = \overline{B|A}$, it follows that $(\overline{B|A})|(\overline{B|A}) = (\overline{B|A})|(\overline{B|A})$ which is constant and equal to 1 because of (5). Therefore (BT') is validated.

Reversed Boethius' Thesis (RBT)

We interpret $\sim(A \rightarrow \sim B) \rightarrow (A \rightarrow B)$ by the iterated conditional $(B|A)|(\overline{\overline{B|A}})$, where $AB \neq \emptyset$. As $(\overline{\overline{B|A}}) = B|A$, it follows from (5) that $(B|A)|(\overline{\overline{B|A}}) = (B|A)|(B|A) = 1$. Therefore (RBT) is validated.

Reversed Boethius' Thesis' (RBT')

We interpret $\sim(A \rightarrow B) \rightarrow (A \rightarrow \sim B)$ by the iterated conditional $(\overline{B|A})|(\overline{\overline{B|A}})$, where $A\overline{B} \neq \emptyset$. As $(\overline{\overline{B|A}}) = \overline{B|A}$, it follows from (5) that $(\overline{B|A})|(\overline{\overline{B|A}}) = (\overline{B|A})|(\overline{B|A}) = 1$. Therefore (RBT') is validated.

Non-Validity of (B3) and (B4)

Boethius Variation (B3)

We interpret $(A \rightarrow B) \rightarrow \sim(\sim A \rightarrow B)$ by the iterated conditional $(\overline{B|\bar{A}})|(B|A)$. We observe that $(\overline{B|\bar{A}})|(B|A) = (\bar{B}|\bar{A})|(B|A)$, because $\overline{B|\bar{A}} = \bar{B}|\bar{A}$. By setting $P(B|A) = x$, $P(\bar{B}|\bar{A}) = y$, and $\mathbb{P}[(\bar{B}|\bar{A})|(B|A)] = \mu$, it holds that

$$(\bar{B}|\bar{A})|(B|A) = (\bar{B}|\bar{A}) \wedge (B|A) + \mu(1 - B|A) = \begin{cases} y, & \text{if } AB \text{ is true,} \\ \mu, & \text{if } A\bar{B} \text{ is true,} \\ \mu(1 - x), & \text{if } \bar{A}B \text{ is true,} \\ x + \mu(1 - x), & \text{if } \bar{A}\bar{B} \text{ is true,} \end{cases}$$

which is not constant and can therefore not necessarily be equal to 1. For example, if we choose the coherent assessment $x = y = 1$, it follows that

$$(\bar{B}|\bar{A})|(B|A) = (\bar{B}|\bar{A}) \wedge (B|A) + \mu(1 - B|A) = \begin{cases} 1, & \text{if } AB \text{ is true,} \\ \mu, & \text{if } A\bar{B} \text{ is true,} \\ 0, & \text{if } \bar{A}B \text{ is true,} \\ 1, & \text{if } \bar{A}\bar{B} \text{ is true,} \end{cases}$$

which is not constant and equal to 1. Therefore (B3) is invalid.

Boethius Variation (B4)

We interpret $(\sim A \rightarrow B) \rightarrow \sim(A \rightarrow B)$ by the iterated conditional $(\overline{B|\bar{A}})|(B|\bar{A})$. We observe that $(\overline{B|\bar{A}})|(B|\bar{A})$ is not constant and not necessary equal to 1 because it is equivalent to (B3) when A is replaced by $\bar{A}$. Therefore, (B4) is not valid.

Connex. princ. interpreted by compounds of cond. events

Name	Connexive principle	Interpretation	Validity
(AT)	$\sim(\sim A \rightarrow A)$	$\overline{A A} = 1$	yes
(AT')	$\sim(A \rightarrow \sim A)$	$\overline{\bar{A} \bar{A}} = 1$	yes
(AB)	$\sim((A \rightarrow B) \wedge (A \rightarrow \sim B))$	$\overline{(B A) \wedge (\bar{B} A)} = 1$	yes
(AS)	$\sim((A \rightarrow B) \wedge (\sim A \rightarrow B))$	$\overline{(B A) \wedge (B \bar{A})} \neq 1$	no
(BT)	$(A \rightarrow B) \rightarrow \sim(A \rightarrow \sim B)$	$\overline{(\bar{B} A) (B A)} = 1$	yes
(BT')	$(A \rightarrow \sim B) \rightarrow \sim(A \rightarrow B)$	$\overline{(\bar{B} A) (\bar{B} A)} = 1$	yes
(RBT)	$\sim(A \rightarrow \sim B) \rightarrow (A \rightarrow B)$	$(B A) \overline{(\bar{B} A)} = 1$	yes
(RBT')	$\sim(A \rightarrow B) \rightarrow (A \rightarrow \sim B)$	$(\bar{B} A) \overline{(B \bar{A})} = 1$	yes
(B3)	$(A \rightarrow B) \rightarrow \sim(\sim A \rightarrow B)$	$\overline{(B \bar{A}) (B A)} \neq 1$	no
(B4)	$(\sim A \rightarrow B) \rightarrow \sim(A \rightarrow B)$	$\overline{(\bar{B} A) (B \bar{A})} \neq 1$	no

Connex. princ. interpreted by compounds of cond. events

Name	Connexive principle	Interpretation	Validity
(AT)	$\sim(\sim A \rightarrow A)$	$\overline{A A} = 1$	yes
(AT')	$\sim(A \rightarrow \sim A)$	$\overline{\bar{A} \bar{A}} = 1$	yes
(AB)	$\sim((A \rightarrow B) \wedge (A \rightarrow \sim B))$	$\overline{(B A) \wedge (\bar{B} \bar{A})} = 1$	yes
(AS)	$\sim((A \rightarrow B) \wedge (\sim A \rightarrow B))$	$\overline{(B A) \wedge (B \bar{A})} \neq 1$	no
(BT)	$(A \rightarrow B) \rightarrow \sim(A \rightarrow \sim B)$	$\overline{(\bar{B} \bar{A}) (B A)} = 1$	yes
(BT')	$(A \rightarrow \sim B) \rightarrow \sim(A \rightarrow B)$	$\overline{(\bar{B} \bar{A}) (\bar{B} \bar{A})} = 1$	yes
(RBT)	$\sim(A \rightarrow \sim B) \rightarrow (A \rightarrow B)$	$(B A) \overline{(\bar{B} \bar{A})} = 1$	yes
(RBT')	$\sim(A \rightarrow B) \rightarrow (A \rightarrow \sim B)$	$(\bar{B} \bar{A}) \overline{(B \bar{A})} = 1$	yes
(B3)	$(A \rightarrow B) \rightarrow \sim(\sim A \rightarrow B)$	$\overline{(B \bar{A}) (B A)} \neq 1$	no
(B4)	$(\sim A \rightarrow B) \rightarrow \sim(A \rightarrow B)$	$\overline{(\bar{B} \bar{A}) (B \bar{A})} \neq 1$	no

Note that (RBT) and (RBT') are not valid in Approach 1.

Connex. princ. interpreted by compounds of cond. events

Name	Connexive principle	Interpretation	Validity
(AT)	$\sim(\sim A \rightarrow A)$	$\overline{A A} = 1$	yes
(AT')	$\sim(A \rightarrow \sim A)$	$\overline{\bar{A} \bar{A}} = 1$	yes
(AB)	$\sim((A \rightarrow B) \wedge (A \rightarrow \sim B))$	$\overline{(B A) \wedge (\bar{B} A)} = 1$	yes
(AS)	$\sim((A \rightarrow B) \wedge (\sim A \rightarrow B))$	$\overline{(B A) \wedge (B \bar{A})} \neq 1$	no
(BT)	$(A \rightarrow B) \rightarrow \sim(A \rightarrow \sim B)$	$\overline{(\bar{B} A) (B A)} = 1$	yes
(BT')	$(A \rightarrow \sim B) \rightarrow \sim(A \rightarrow B)$	$\overline{(\bar{B} A) (\bar{B} \bar{A})} = 1$	yes
(RBT)	$\sim(A \rightarrow \sim B) \rightarrow (A \rightarrow B)$	$(B A) \overline{(\bar{B} \bar{A})} = 1$	yes
(RBT')	$\sim(A \rightarrow B) \rightarrow (A \rightarrow \sim B)$	$(\bar{B} \bar{A}) \overline{(B A)} = 1$	yes
(B3)	$(A \rightarrow B) \rightarrow \sim(\sim A \rightarrow B)$	$\overline{(B \bar{A}) (B A)} \neq 1$	no
(B4)	$(\sim A \rightarrow B) \rightarrow \sim(A \rightarrow B)$	$\overline{(\bar{B} A) (B \bar{A})} \neq 1$	no

Note that (RBT) and (RBT') are not valid in Approach 1. If, however, we use the narrow scope negation in Approach 1, we can validate (RBT) and (RBT') in Approach 1.

Table of contents

Introduction

Approach 1: Connexivity by probabilistic constraints on defaults

Approach 2: Connexivity by logical operations on conditional events

Concluding remarks

References

Concluding remarks

- Connexivity is not only **psychologically plausible** (e.g., Pfeifer, 2012b; Pfeifer & Tulkki, 2017) but also **emerges naturally** under probabilistic interpretations

Concluding remarks

- ▶ Connexivity is not only **psychologically plausible** (e.g., Pfeifer, 2012b; Pfeifer & Tulkki, 2017) but also **emerges naturally** under probabilistic interpretations
- ▶ We recovered various **connexive principles** via two approaches:
 - ▶ **Approach 1:** Connexive principles obtained by defaults interpreted by probabilistic constraints on conditional events (basic conditionals are interpreted by probability constraints; negation of the assessment; wide scope negation)

Concluding remarks

- ▶ Connexivity is not only **psychologically plausible** (e.g., Pfeifer, 2012b; Pfeifer & Tulkki, 2017) but also **emerges naturally** under probabilistic interpretations
- ▶ We recovered various **connexive principles** via two approaches:
 - ▶ **Approach 1:** Connexive principles obtained by defaults interpreted by probabilistic constraints on conditional events (basic conditionals are interpreted by probability constraints; negation of the assessment; wide scope negation)
 - ▶ **Approach 2:** Connexive principles obtained by logical operations on conditional events (basic conditionals are interpreted by conditional events; negation of the object; narrow scope negation)

Concluding remarks

- ▶ Connexivity is not only **psychologically plausible** (e.g., Pfeifer, 2012b; Pfeifer & Tulkki, 2017) but also **emerges naturally** under probabilistic interpretations
- ▶ We recovered various **connexive principles** via two approaches:
 - ▶ **Approach 1:** Connexive principles obtained by defaults interpreted by probabilistic constraints on conditional events (basic conditionals are interpreted by probability constraints; negation of the assessment; wide scope negation)
 - ▶ **Approach 2:** Connexive principles obtained by logical operations on conditional events (basic conditionals are interpreted by conditional events; negation of the object; narrow scope negation)
- ▶ **Aristotle's Second Thesis, (B3), and (B4) are not valid** in both approaches

Concluding remarks

- ▶ Connexivity is not only **psychologically plausible** (e.g., Pfeifer, 2012b; Pfeifer & Tulkki, 2017) but also **emerges naturally** under probabilistic interpretations
- ▶ We recovered various **connexive principles** via two approaches:
 - ▶ **Approach 1:** Connexive principles obtained by defaults interpreted by probabilistic constraints on conditional events (basic conditionals are interpreted by probability constraints; negation of the assessment; wide scope negation)
 - ▶ **Approach 2:** Connexive principles obtained by logical operations on conditional events (basic conditionals are interpreted by conditional events; negation of the object; narrow scope negation)
- ▶ Aristotle's Second Thesis, (B3), and (B4) are not valid in both approaches
- ▶ **Coherence-based probability logic** allows for bridging qualitative and quantitative reasoning, applications include, e.g.,
 - ▶ Aristotelian syllogisms (e.g., Pfeifer & Sanfilippo, 2018, 2019, m.s.)
 - ▶ Squares and hexagons of oppositions in terms of probability and defaults (e.g., Pfeifer & Sanfilippo, 2017)
 - ▶ Nonmonotonic reasoning (System P (Gilio, 2002; Gilio & Sanfilippo, 2019b), Weak Transitivity (Gilio et al., 2016))
 - ▶ Towards a deduction theorem (Gilio et al., 2020)
 - ▶ Paradoxes of the material conditional (Pfeifer, 2014, in press)
 - ▶ Psychology of reasoning (e.g., Pfeifer, 2013; Pfeifer & Kleiter, 2009, 2010)
 - ▶ Iterated conditionals and compounds ...
- ▶ Future work: analysis of other connexive principles (suggestions welcome!)
 niki.pfeifer@ur.de & giuseppe.sanfilippo@unipa.it

References I

- Gilio, A. (2002). Probabilistic reasoning under coherence in System P. *Annals of Mathematics and Artificial Intelligence*, 34, 5–34.
- Gilio, A., Pfeifer, N., & Sanfilippo, G. (2016). Transitivity in coherence-based probability logic. *Journal of Applied Logic*, 14, 46–64. doi: <http://dx.doi.org/10.1016/j.jal.2015.09.012>
- Gilio, A., Pfeifer, N., & Sanfilippo, G. (2020). Probabilistic entailment and iterated conditionals. In S. Elqayam, I. Douven, J. S. B. T. Evans, & N. Cruz (Eds.), *Logic and uncertainty in the human mind: A tribute to David E. Over* (pp. 71–101). Oxon: Routledge. doi: <https://doi.org/10.4324/9781315111902-6>
- Gilio, A., & Sanfilippo, G. (2013a). Conditional random quantities and iterated conditioning in the setting of coherence. In L. C. van der Gaag (Ed.), *ECSQARU 2013* (Vol. 7958, pp. 218–229). Berlin, Heidelberg: Springer.
- Gilio, A., & Sanfilippo, G. (2013b). Conjunction, disjunction and iterated conditioning of conditional events. In R. Kruse, M. R. Berthold, C. Moewes, M. A. Gil, P. Grzegorzewski, & O. Hryniewicz (Eds.), *Synergies of soft computing and statistics for intelligent data analysis* (Vol. 190, pp. 399–407). Berlin, Heidelberg: Springer. (DOI: 10.1007/978-3-642-33042-1_43)
- Gilio, A., & Sanfilippo, G. (2013c). Quasi conjunction, quasi disjunction, t-norms and t-conorms: Probabilistic aspects. *Information Sciences*, 245, 146–167. doi: 10.1016/j.ins.2013.03.019
- Gilio, A., & Sanfilippo, G. (2014). Conditional random quantities and compounds of conditionals. *Studia Logica*, 102(4), 709–729.
- Gilio, A., & Sanfilippo, G. (2019a). Conjunction of conditional events and t-norms. In G. Kern-Isberner & Z. Ognajović (Eds.), *Symbolic and quantitative approaches to reasoning with uncertainty (ECSQARU 2019)* (Vol. 11726, pp. 199–211). Springer.
- Gilio, A., & Sanfilippo, G. (2019b). Generalized logical operations among conditional events. *Applied Intelligence*, 49(1), 79–102.
- Lenzen, W. (2020). A critical examination of the historical origins of connexive logic. *History and Philosophy of Logic*, 41(1), 16–35.
- McCall, S. (2012). A history of connexivity. In D. M. Gabbay, F. J. Pelletier, & J. Woods (Eds.), *Handbook of the history of logic* (Vol. 11 (Logic: a history of its central concepts)). Amsterdam: Elsevier.
- Pfeifer, N. (2012a). Experiments on Aristotle's Thesis: Towards an experimental philosophy of conditionals. *The Monist*, 95(2), 223–240.
- Pfeifer, N. (2012b). *Naturalized formal epistemology of uncertain reasoning* (Unpublished doctoral dissertation). Tilburg Center for Logic and Philosophy of Science, Tilburg University.
- Pfeifer, N. (2013). The new psychology of reasoning: A mental probability logical perspective. *Thinking & Reasoning*, 19(3–4), 329–345.
- Pfeifer, N. (2014). Reasoning about uncertain conditionals. *Studia Logica*, 102(4), 849–866.
- Pfeifer, N. (in press). Probability logic. In M. Knauff & W. Spohn (Eds.), *Handbook of rationality*. Cambridge, MA: The MIT Press.

References II

- Pfeifer, N., & Kleiter, G. D. (2009). Framing human inference by coherence based probability logic. *Journal of Applied Logic*, 7(2), 206–217.
- Pfeifer, N., & Kleiter, G. D. (2010). The conditional in mental probability logic. In M. Oaksford & N. Chater (Eds.), *Cognition and conditionals: Probability and logic in human thought* (pp. 153–173). Oxford: Oxford University Press.
- Pfeifer, N., & Sanfilippo, G. (2017). Probabilistic squares and hexagons of opposition under coherence. *International Journal of Approximate Reasoning*, 88, 282–294.
- Pfeifer, N., & Sanfilippo, G. (2018). *Probabilistic semantics for categorical syllogisms of Figure II*. Cham: Springer.
- Pfeifer, N., & Sanfilippo, G. (2019). Probability propagation in selected Aristotelian syllogisms. In G. Kern-Isberner & Z. Ognajović (Eds.), *Symbolic and quantitative approaches to reasoning with uncertainty (ECSQARU 2019)* (Vol. 11726, pp. 419–431). Springer.
- Pfeifer, N., & Sanfilippo, G. (in press). Interpreting connexive principles incoherence-based probability logic. In J. Vejnárová & J. Wilson (Eds.), *Symbolic and quantitative approaches to reasoning with uncertainty (ECSQARU 2021)* (Vol. LNAI 12897). Cham: Springer. Retrieved from <https://arxiv.org/abs/2109.01139> doi: https://doi.org/10.1007/978-3-030-86772-0_48
- Pfeifer, N., & Sanfilippo, G. (m.s.). *Probability semantics for Aristotelian syllogisms*. <https://arxiv.org/abs/2008.10338>.
- Pfeifer, N., & Tulkki, L. (2017). Conditionals, counterfactuals, and rational reasoning. An experimental study on basic principles. *Minds and Machines*, 27(1), 119–165.
- Ramsey, F. P. (1929/1994). General propositions and causality (1929). In D. H. Mellor (Ed.), *Philosophical papers by F. P. Ramsey* (p. 145–163). Cambridge: Cambridge University Press.
- Wansing, H. (2020). Connexive logic. In E. N. Zalta (Ed.), *The Stanford encyclopedia of philosophy* (Spring 2020 ed.). <https://plato.stanford.edu/archives/spr2020/entries/logic-connexive/>.